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QUESTION 1

You are having problems redistributing RIP routes into OSPF. Your Junos device has the following
configuration:

[edit protocols ospf]
user@router# show
import my-policy;
area 0.0.0.0 {
interface ge-0/0/0.0;
interface ge-0/0/ ;
interface ge-0/0/ {
passive;

}

}

What would resolve the problem?

A. Apply my-policy as an export policy under the [edit protocols rip] hierarchy.
B. Apply my-policy as an import policy under the [edit protocols rip] hierarchy.
C. Apply my-policy as an export policy under the [edit protocols ospf] hierarchy.
D. Use the area-range parameter instead of a routing policy.

Correct Answer: D

QUESTION 2

You are implementing Q-in-Q tunneling on an EX Series switch. You want the tunnel to support all C-
VLANSs; however, only some VLANSs are able to send traffic across the tunnel. Switch-1 has the following
configuration:

[edit vlans]

user@Switch-1# show

v100 {

vlan-id 100;
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interface {
ge-0/0/0.10;
ge-0/0/1.20;

}

dotlg-tunneling {
customer-vlans [ ];
}

}

What would solve this problem?

A. Add family ethernet-switching to the tunnel-side interface on Switch-1.

B. Implement RSTP.

C. Q-in-Q tunneling will not work in this scenario; use a Layer 2 VPN instead.
D. Remove the customer-vlans statement.

Correct Answer: C

QUESTION 3

Two neighboring routers are able to form an OSPF adjacency, but are not able to establish an IBGP neighborship.
What are two reasons for the IBGP neighborship problem? (Choose two.)

A. One of the devices has a misconfigured BGP peer address.

B. One or both of the connected interfaces are missing the family iso statement.

C. OSPF has a lower route preference than BGP.

D. A firewall filter on one of the interfaces is blocking TCP traffic.

Correct Answer: BC

QUESTION 4

The exhibit shows part of the configuration for a router. You receive a complaint that the router is not correctly
reclassifying all traffic to the best-effort forwarding class when the amount of IPv4 traffic exceeds 10 Mbps.
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interfaces {
ge-0/0/0 | }
unit 0 { }
family inet | }
filter | :
input filterl; firewall (
policer policerl |
if-exceeding {

1
policer |
input policerl:

] band.wil:l;h—'.:i.lp:i.; 10m;
address 10.210.33.131/26: ! Barab-arze imitdl:
! } ; then forwarding-class best-effort;
; ! filter Ffilterl {
class—opf-service | termfill;mL [

clazgifiers {
inet-precedence ip clasgifier 1 | 1
forwarding-class best—effort | then {
loss-priority low code-points [ 000 010 011 100 ];: - il by
forwarding—-class expedited-fprwarding;

precedence bl01;

y
forwarding-class assured-forwarding {
loss-priority _ow code-pointa 001;

} 1

}

forwarding-class expedited-forwarding { termfim{n i
; FoRSTRELOLLy ToN Codes poinias ol forwarding-class-except beat-effort:
forwarding-class network-control { 1}'.hen I

lozs-priority _ow code-pointa 110;

—nricritv hi i . policer policerl;
y loss-pricrity high cede-peoints 111; cme formas

'
t
} I

interfacea | tE:m*’imL ;
iR { l.rﬂ i
o D::;;L-E -'f] { ferwarding-claas beat—effort;
oo t
clasgifiers { -
inet-precedence ip classifisr 1; y then count term3;
<<cont next column>:>

e

You have isolated the problem to traffic with the IP precedence bits set to the binary value 101. Which configuration is
causing this behavior?

A. the filter firewall filter\\'s term 1
B. the filter firewall filter\\'s term 2
C. the ip_classifier_1 classifier
D. the policerl policer

Correct Answer: A

QUESTION 5

-- Exhibit -user@router# show class-of-service
classifiers {

inet-precedence ipp-test {

import default;

forwarding-class best-effort {

loss-priority low code-points be;
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}

forwarding-class expedited-forwarding {

loss-priority low code-points af21;

}

forwarding-class assured-forwarding {

loss-priority low code-points afl1;

} forwarding-class network-control { loss-priority low code-points ncl; }}}

user@router# show firewall filter MF { term 1 { from { precedence 0; } then forwarding-class best-effort; } term 2 { from {
precedence 5; } then forwarding-class expedited-forwarding; } term 3 { from { precedence 2; } then forwarding-class
assured-forwarding; } term 4 { from { precedence 6; } then forwarding-class network-control; } term 5 { then accept; } }
user@router> show class-of-service ... Code point type: inet-precedence Alias Bit pattern af11 001 af21 010 af31 011
af41 100 be 000 cs6 110 cs7 111 ef 101 ncl 110 nc2 111 -- Exhibit -

Click the Exhibit button.

Traffic with the IPP value af21 should be assigned to the expedited forwarding queue; however, this traffic is not being
assigned to that queue.

Referring to the exhibit, what is causing this behavior?

A. The af21 traffic is assigned to the assured forwarding queue because of the BA classifier.
B. The af21 traffic is assigned to the assured forwarding queue because of the MF classifier.
C. The af21 traffic is assigned to the best effort queue because of the MF classifier.

D. The af21 traffic is assigned to the best effort queue because of the BA classifier.

Correct Answer: B
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